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���������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������������������������
���� !��������������������������������������������������������������������������������������������������������
������∀#��∀���#�∃������%&������������������������������������������������������������������������∋
���∃������%&�∀�����������������������������������������������������������������������������������������(
��&�%����������������������������������������������������������������������������������������������������������)

∗��+���,�−∀�.∀����,∗/0+,∀0−+∀�����/	
,−�����������������������������������������������������∋�

+,0��	
�����������������������������������������������������������������������������������������������������������������∋)

∗�1��&&�� �����������������������������������������������������������������������������������������������(�

��∃����∀2��∀∗����2��1����������������������������������������������������������������������������(3
4����������5���1����������������������������������������������������������������������������������������(6
�����%�∀+,∀7∀��∀��������������������������������������������������������������������������������������(


∗��+���,�−∀��.∀���8,��9−����������������������������������������������������������������������������������3)

���−:���,�����������������������������������������������������������������������������������������������������������������������������6(

� ��;���∀�����!��������������������������������������������������������������������������������������63
��#��%�����∀!���∀�<��!������������������������������������������������������������������������������6)
� ������∀��∀%��=>�%�����∀������=����������������������������������������������������������������
�
�����%���∀��∀7∀+,∀�����������������������������������������������������������������������������������
�

∗��+���,�−∀���.∀���?�,
��������������������������������������������������������������������������������������)(

������−9�����������������������������������������������������������������������������������������������������������������)

�������∀��������%���������������������������������������������������������������������������������������))
��#��%2����∀!��∀�≅��������������������������������������������������������������������������������������(
�����>�%2����∀�∀������������������������������������������������������������������������������������Α
�����%���∀��∀7∀+,∀�����������������������������������������������������������������������������������3

Β0,��,−?,�4,�	
−��Χ∀�90�	,�Χ∀∗�∗��9������������������������������������������������������������������∋




� ������	
��
������	

���!��∀��∀

��∀#�����∀������∀�∆�����∀∃��Χ∀#��∀����������∀��#∀
��%��1����Χ∀%����∀#%����Χ∀#��∀
2��∀,��������1∀#�����∀������∀���1���%1��∀�%���Χ∀��������#���∀&��1��#��∀8�������.

������Χ∀9���Ε∀��������1∀�1�%�∃������%&�Χ∀���∀#��∀�������∀�%�#����1�����1

+%��%1�%���%Χ∀,�����Ε∀���∀&Φ�∀∗��1�%�#∃������%&�∀#��∀8��>��2∀∗�2��

+�����Γ
�!&%�&Χ∀��� ��Ε∀0��>�����5�∀���������∀ΗΙ�������������∀��%�2∆�����ϑ

���������Χ∀�%����Ε∀��������∀#�∀������%∀��Κ%����∀��∀���#���

Λ���∃���Χ∀Λ��%��Ε∀��������1∀�1�%�∃������%&�Χ∀���∀#��∀�������∀�%�#����1�����1

�%1���Χ∀	=����Ε∀��������∀%1������∀#�∀��%�1����>�Χ∀8�����ΜΧ∀���∃��2

−�����%�Χ∀�������%�Ε∀0��>�����5�∀���������∀ΗΙ�������������∀��%�2∆�����ϑ

8���%�#Γ�%�����Χ∀�����Ε∀������∀Ν�%����∀#�∀�<��!%1�Ο∀��∀���>�2

8�%2Χ∀8�����Ε∀����+,�Χ∀�%��%���

���Μ���Χ∀Λ%���Ε∀��9Π	�
,��∀Η�����%��∀8%������∀��#Γ���∃���ϑΧ∀���∃��2

?=���Χ∀��%�Θ���Ε∀	��%1��&Χ∀��������Χ∀��%�������

������Χ∀�����%Ε∀0��>�����5�∀���������∀ΗΙ�������������∀��%��������ϑ
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Ο�����Χ∀�%����∀��#∀�%�#∀���#∀#��∀∃�����������∀∗���%�#�����∀>��∀�����Χ∀#�����∀
∗����!�� ∀ #�� ∀�����>���&%��Χ ∀ #�� ∀ >�� ∀�������� ∀ ���� ∀ �%�1�� ∀ 4��� ∀ ��∃������%&���Χ∀
1����Φ�2�∀��#∀���%����∀∃��#���∀+��∀%��Φ������&�����∀∗�∃������%&���1�!�%������∀�%���∀
�� ∀ ���∆1�����Χ ∀ ��� ∀ ∃��������� ∀ ∆����1������ ∀ ��# ∀ �%�#���%&������� ∀ ������1�∃����∀
2∃������∀#��∀���2�����∀Ι��!�������∀#�����∀�������∀2�∀���%&&��Ρ∀Η∃∃∃�����%�!����Χ∀
Σ������2��1.∀Λ���%∀,���ϑ�

+�� ∀���∃������%&� ∀ 25��� ∀ 2� ∀ #�� ∀ 5������� ∀−��2��1�&����� ∀ �� ∀��!���%��� ∀4∃%�∀
��∃�����∀���∀,�������∀��∀#��∀�)
���ΓΛ%����∀#��∀,��#����Χ∀#��∀���∃������%&�∀���∀����∀
���∀����%�&��#���Χ∀Κ�#���∀�������∀���∀%�∀�)��∀#%��∀>�������#����∀�∆�#����1��∀��#∀
#��∀�����∀����∀>���%�#����∀��%#��������∃���������∀�����∀�����∀��&���∃��1∀��#∀
���∀2�������#∀%���∀&Φ�∀#��∀���������∀���∀����%∀1�∃��#���

+��� ∀�%� ∀��� ∀��∃�1��Χ ∀��� ∀�����%� ∀#�� ∀2����%���∀∗�1��&&� ∀#�� ∀���∃������%&� ∀2�∀
����������∀+����1�&Φ���∀∃��#�∀#��∀������∀��∀�%����∀>��∀2∃��∀+�!���%�������∀%�∀
�������� ∀ &Φ� ∀ ��%���%�����∃��������%&�. ∀ 4����� ∀ >��&%���� ∀ +%����% ∀ Ι����� ∀ ∋��6 ∀ ���∀
�����%� ∀ +������ ∀ 7 ∀ ��%��������Χ ∀ ∋��� ∀ ������� ∀ Λ���% ∀ ,��� ∀ #%� ∀ �����%� ∀ +������ ∀ 7∀
��%�2∆������
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+��∀���∃������%&�∀!�51�∀#%�∀�%�#���%&�����#∀1��Τ��∀�����∀#��∀��!��∀��#∀8 ���5���∀
+��∀Φ���∃��1��#�∀���� ∀#��∀−��#%�!��∀��#∀#�� ∀∃���������∀&�%�2∆�������∀8 ���5��∀
∃5��∀����∀���∃������%&�∀%�∀�����∀
∆��∀>��∀�%�∀�3��∀�����∀#����1����#∀��∃%�#���∀

�5����# ∀ &�Φ��� ∀ &Φ� ∀ #�� ∀ ���%&&��1 ∀ ����� ∀���#�&�5���� ∀ >��� ∀ ��# ∀ ��������������∀
1���#��∀∃��#�Χ∀���∀#��∀8&��1�∀>���%�#����∀���&�5����∀��#∀#��∀��#��1∀>��∀∗��1∃%�#∀
��∀#��∀1��%����∀��!��∀�����∀�����1∀��1�����������∀+������∀∃��#��∀�����∀����∃����∀
����∀��������∀����%������∀?��∀%����∀��∀−%����%�!%���∀�#��∀�����21�������∀�����∀��∀
2��∀Ι��&����∀2∃������∀−%��������2∀%�&∀#��∀�����∀��#∀?���∃������%&�∀%�&∀#��∀%�#����∀
������∀���∀#��∀��&�%����1∀>��∀�����∀#�����∀%����#��1�∀1��Τ�∀��5����∀2�∀>��∃��#���Χ∀
��#∀∃���>����∀Ι������%�#���%&���∀1����∀�����∀>��������∀

+��∀&��1��#�∀,��������1∀��2����∀����∀%�&∀#��∀���∃������%&�∀��∀#��∀��!��Χ∀>��∀%����∀
��∀Υ����������∀
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−������∀��������1��∀2��1��Χ∀#%��∀�������∀��∀3�∀Λ%���%����#∀>��∀	�������∀#��∀�%�Φ���Γ
����∀���#�&�5����∀�����%��∀#��∀�%�#1���2�∀��∀#��∀��!��∀1����2�∀∃��#���∀��#���∀
�������∀#%������∀�����∀�����������∀�!����∀��1%�∀%�&∀#��∀4����%��∀���∀����∀>�∀	���∀
��&∀Κ�#��∀�%��∀∃�����∀∃��∀%��∀#��∀,��∃������1�1���������Χ∀#%��∀#��∀�����∀������∀���∀
���%#�������#��∀Λ51��∀��#∀�%�����∀1�∃����∀∃%�Χ∀��>��∀��∀����∀�!5���∀�����∀2���1��Χ∀
#��∀��∀#������2������∀∀

��∀#��∀∗���2�Γ∀��#∀,����2���∀�����∀����∀#��∀�%����∀�����%��∀#��∀�%�#��∀&Φ�∀#��∀
?����%����1∀1��%#�2�∀%�Ε∀#%�%��∀∃%�∀#%�∀
∆�������%∀���#��∀%��∀�����∀��#∀#��∀�5���∀
∃%���∀�5�&�1∀>�����!&�∀�2∃�∀#����∀��∃%�#���∀

+��∀���∃������%&� ∀#��∀ &�Φ���∀�%1�∀�%� ∀2����� ∀#�� ∀�%�Φ�������∀���#��∀#��∀�%�#Γ
�������1��∀�2∃�∀#��∀Φ���∀#��∀�%�#∀���1��#��∀��Φ�1Φ�����∀1����2��∀,���∀���∀4��%���∀
#��∀∗�>∆������1∀��∀��!���%��∀∃%�#���∀����∀#��∀��������∀%���∀Κ����∀�%����������∀
2�Χ∀#��∀2�>��∀�����∀�%�#∃������%&�����∀1����2�∀∃��#��∀∃%����∀��∀�%����∀��#��1�%�����∀
∃��#�� ∀#�� ∀��������� ∀��# ∀>��#���� ∀�%�%��������� ∀ �� ∀ �!5����� ∀4��� ∀ ���%� ∀1��%���Χ∀
�����#���∀�������>∀2��∀������∀�%�∀>��∀�%�∀3��∀���∀�∋3�∀��∀	���Χ∀>��∀%����∀&Φ�∀#��∀
,��������1∀>��∀�%�2Γ∀��#∀,�2���1∃������∀

��∀������%����∀∃��#�∀2��∀2∃�����∀�%�∀��%��∀1���#��Χ∀#����%�∀1�2����Χ∀��∀�%�#∀��∀
���#�&�5���∀��2�∃%�#����∀,���∀�����∀>��∀0����#��∀��∃����Χ∀#%��∀���∀���∀�Α�∀Λ%��Γ
���#��� ∀ ��� ∀ ��1�� ∀����������� ∀ #�� ∀��#��1�%����� ∀ 2�� ∀4∃��� ∀#�� ∀��∃�����1 ∀#��∀
�����∀����������∀0�#∀�%��5������∀�������∀#��∀���∃������%&�∀��∀�!5�������%����∀Η�Α�∀
���∀�3�∀Λ%�����#���ϑ∀����∀∗�Φ��2����∀∀

∗��∀∃���∀���∀�)�∀Λ%�����#���∀������∀∃%�∀#��∀���∃������%&�∀#��∀�5���∀#��∀?���∃���Γ
���%&�∀���∀������Τ����Χ∀�����#���∀�����∀#��∀,��&����∀#��∀,������#������Χ∀����∀0�����∀
��1%���∀+��∀�%�#∃������%&������∀−��2��1∀���∀��∀#��∀�����1�����∀���%�&∀∃��#�∀>��∀
∃��#��������5����#��∀�%�#��#���1��∀%�1��∆��Χ∀��#∀#��∀���∃������%&�∀�%�∀��∀����∀
2�������#∀�����������∀�%1��∀��∀Υ���������∀>��%��%����∀#��∀#%�%��1�∀∗�#�����1∀#��∀
,Μ�����2∀#��∀∗��1�%������%�#��∀#��∀��%%�∀���2∀>��∀,�#�∀#��∀�)�∀Λ%�����#����∀���2�Γ
����������∀,���∀��%%������∀Ι���������∀�������∀�������∀���
∀&���.∀Ν+��∀���∃��#�∀���∀���∀
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∃�����1��∀���#%����∀#��∀−%����%�>���∆1���∀��#∀?����∃�����%�#���∀,�∀���#∀#%���∀
��>��2Φ1����∀∗��������1��∀2�∀�����2Χ∀8&��1�∀��#∀�∆�#����1∀#��∀���∃������%&�∀2�∀
���%����Ο∀Η∃∃∃�%��∃������%&�����ϑ�∀−%��∀��#∀�%��∀�%�∀��∀��∀1��%����∀��!���%��∀
2�∀�����2��∀2��∀�∆�#����1∀��#∀?����������1∀#��∀���∃������%&��∀

��∀#��∀������∀
5�&��∀#��∀∋��∀Λ%�����#����∀��&��1��∀����∀�������>�∀−��2��1∀#��∀���Γ
1������Χ∀#��∀Κ�#���∀,�#�∀#��∀�)6���Γ∀��#∀��∀#��∀�)
���ΓΛ%����∀#�%������∀2��Φ��1��1�∀
+�� ∀����# ∀ #%&Φ� ∀ �%1 ∀ >�� ∀ %���� ∀ �� ∀ 1��������%&������� ∀ ��������∃%�#�� ∀ �%�� ∀ #��∀
4∃�����∀��������1Χ∀#��∀����∀��∃%�#����1∀#��∀�%�#%��������5&��∀���∀����∀��%����∀��#∀
#%��� ∀ ����� ∀ 8�����%��%�1�� ∀ %���∆���. ∀ +�� ∀ ���������%&� ∀ ∃��#� ∀ 2�� ∀ ���������∀
8��#�������&%����� ∀��Τ��#�� ∀ !%���� ∀ #�� ∀���∃������%&� ∀ ���&%�� ∀ ����� ∀���� ∀ 2��∀
#%�%��1��∀������������#������∀��∀Υ���������∀2��∀∗���!���∀�%�∀��∀2∃������∀�)3∋∀��#∀
�)�6∀2�∀�����∀��%����∀�Φ��1%�1∀#��∀���%��%��&�5���.∀+��∀���∃%�#&�5���∀�%��∀
��∀∋
∀ς∀%�Χ∀#��∀��!��#����>�∀���&�5���∀��∀∋�∀ς∀��#∀#��∀���∃��#�&�5���∀Η���#∀#��∀

5�&��∀#��∀���%��&�5���ϑ∀��∀�6∀ςΧ∀∃�#����∀#��∀���∃������%&�∀��∀#�����∀4����%��∀
2���%∀�Α∋����∀�%∀���#�&�5���∀>�������∀1��1���∀��∀#��∀�)����ΓΛ%����∀�%�∀��∀#����∀
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